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WQI_Hg = 100.3278971454447 * (2.71  ((-0.049209008950069) * (Hg)))
WQI_Pb = 69.5500604885486 * (2.71 / ((-0.026778197503242) * (Pb)))
WQI_Cd = 65.4056532034431 * (2.71 " ((-0.091074553288794) * (Cd)))
WQI_Cr = 65.905962623975 * (2.71 ~ ((-0.005522030732569) * (Cr)))
WQI_As = 97.2444974977967 * (2.71 ~ ((-0.027421343460983) * (As)))
WQI_Fe = 100.2724093348286 * (2.71 ~ ((-0.000521826404749) * (Fe)))
WQI_Mn = 74.4549217974468 * (2.71 ~ ((-0.000675572651534) * (Mn)))

WQI_CN = 65.9825834746033 * (2.71 ~ ((-0.003942126052053) * (CN)))

WQI_TPH = 87.7802927090388 * (2.71 ~ ((-0.001318085662786) * (TPH)))

WQI_Phenol =90.7671950201202 * (2.71 ~ ((-0.000444231648164) *
(Phenol)))

WQI_Detergent = 99.9117537855903 * (2.71  ((-0.000933798808211) *
(Detergent)))
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i=1
vy =0.117 + 0.128 + 0.063 + 0.092 + 0.056 + 0.07 + 0.092 + 0.084 + 0.108 + 0.09 + 0.1=1

wor = ([ [y
i=1

WQI = [(9970.117) * (9670.128) * (990.063) * (58"0.092) * (6770.056) *(54"0.07) *
(5010.092) * (50°0.084) * (210.108) * (830.09) * (91°0.1)] ~ 1/1
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WQI_Hg = 99.3746067119634 * (2.71 A ((-0.047457892170821) * (Hg))) 05> sl a>Ls lade
WQI_Pb = 70.6272145067615 * (2.71 ~ ((-0.037128202170685) * (Pb))) o §lp Ll lade
WQI_Cd = 101.15367065445641 * (2.71 ~ ((-0.084129301087307) * (Cd))) poedlS sl el i
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WQI_Mn = 77.4274305601084 * (2.71 A ((-0.000696380215326) * (Mn))) P sl Pl lade
WQI_CN = 100.60556215175861 * (2.71 ~ ((-0.004023050773938) * (CN))) Sl sl a3 ls o
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WQI_TPH = 88.8671174682016 * (2.71 ~ ((-0.001328374075797) * (TPH)))

WQI_Phenol = 99.7447746196143 * (2.71 ™ ((-0.000418599642396) *
(Phenol)))
WQI_Detergent = 100.8293391052988 * (2.71 " ((-0.000980098966693) *
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i=1
v =0.113 + 0.128 + 0.066 + 0.079 + 0.054 + 0.072 + 0.086 + 0.079 + 0.097 + 0.119 + 0.107 =1
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WOQI = [(9770.113) * (94°0.128) * (1000.066) * (49°0.079) * (6770.054) *(99"0.072) *
(9770.086) * (9270.079) * (84°0.097) * (9970.119) * (100°0.107)] ~ 1/1
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